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Vue locale

/

BR Poul Ranet
- V=180m3
Qf=31l/s
S.w= 1.4ha
avec C. = 0.435

BR Traou Feunteun
V = 2600 m3

Qf =390 I/s

Sw= 130 ha

avec C. =0.13

BR Chataigniers

7/

avec C. = 0.50 \

~_avecC.=0.42

BR Tilleuls
V = 700 m3

Qf=75s — —

S.i= 6.45 ha

avec C. = 0.45

BR Lotisserﬁent Stang Marrec
V=50 +58+35m3 . conz

BR Keraval Bihan

N

Om 100m

BR Rue Madeleine
V =1750 m3
Qf=511l/s

S.= 17 ha

avec C. =0.42

BR Parc Madeleine
V = 5650 m3

Qf =408 /s

S..= 136 ha

avec C. =0.22

BR Albert Camus
V =80m3
Qf=301/s

S..= 1.1 ha

avec C. =0.45

BR ZI Graces Centre
V =5150 m3

Qf =180 I/s

S..= 60 ha

avec C. = 0.36

BR ZI Graces Aval
V =11 000 m3
Qf=2551.s

S..= 85 ha

avec C. = 0.5

BR Le Bolu
V =250 m3

S.i=2.05 ha

H:_:i

- BR ZI Gréaces
[ V=
Qf=101s

S.=2.05 ha

500 m

250 m3

Vue locale

BR Traou Feunteun \
V = 2600 m3 [
Qf =390 s |
S.=130 ha

avec C,=0.13

Om 100m 500 m
H T A

BR Rue Madeleine
V =1750 m3
Qf=511/s

S.=17 ha

avec C, =042

— BR Parc Madeleine
V = 5650 m3
Qf=4081is
S.= 136 ha
avecC,=0.22

BR Albert Camus
V=80m3
Qf=30Us

BR Lotissement Stang Marrec
35m3

V=50+58+

\

\ BR Keraval Bihan [
\ V=1750m3 Pz
\ af =105 s

S.=35ha
avec C. =025 \ \
— \ I\
_— J N— A BR ZI Graces Centre
[ - V'=5150m3
Qf=1801s

S.=60 ha
avecC.=0.36

BR ZI Graces Aval
V =11000 m3
Qf=2551s

S.= 85 ha
avecC. =05

BR ZI Gréces
V=250m3
Qaf=101s
S.=2.05ha




